

$L = k(\alpha)$ .  $[L:k] = 3 \text{ 或 } 2$ .  $L = \{a_0 + a_1\alpha + a_2\alpha^2 : a_0, a_1, a_2 \in k\}$  の基底  $\alpha^2 \in k(\alpha)$  也.  $k(\alpha^2) \subset k(\alpha)$ .  
 $[L:k] < \infty$  也.  $\alpha^2 \in k(\alpha)$  也.  $\alpha^2 \in k(\alpha)$  也.  $\alpha^2 \in k(\alpha)$  也.  $\alpha^2 \in k(\alpha)$  也.

$\alpha^3 + a_2\alpha^2 + a_1\alpha + a_0 = 0$  ( $a_0, a_1, a_2 \in k$ )  
 $\alpha^4 + a_2\alpha^3 + a_1\alpha^2 + a_0\alpha = 0$   
 $\Rightarrow a_2\alpha^3 + a_1\alpha^2 + a_0\alpha = 0$   
 $\alpha^4 + b_2\alpha^2 + b_1\alpha + b_0 = 0$   
 $\therefore \alpha = -b_1^{-1}(\alpha^4 + b_2\alpha^2 + b_0) \in k(\alpha^2)$   
 $\therefore k(\alpha) = k(\alpha^2)$

$\alpha^2 \in k(\alpha)$  也.  $k(\alpha^2) \subset k(\alpha)$   
 $[k(\alpha):k] = [k(\alpha):k(\alpha^2)] \cdot [k(\alpha^2):k] = 3$   
 $\therefore [k(\alpha^2):k] = 1$   
 $\therefore k(\alpha^2) = k$  也.  $\alpha^2 \in k$ .  
 $\therefore \alpha^2 \in T^2 - d^2 \in k[T]$  の解である. 最小多項式  $f(x) = x^2 - d^2$  の根  $\alpha$  である.  
 $\therefore [k(\alpha):k] \leq 2$  である.  $\therefore k(\alpha) = k(\alpha^2)$

代数B. 10月

$$\text{[4] (1) } \left(\frac{T-1}{2}\right)^2 = 2 \quad \rightarrow \quad T^2 - 2T + 1 = 8$$

$$T^2 - 2T - 7 \text{ の最小多項式} \quad \rightarrow \quad \text{既約多項式} = \text{最小多項式} = T^2 - 2T - 7$$

$$\text{P1. } (T-2)^3 = 3 \quad \rightarrow \quad T^3 - 3 \cdot 2T^2 + 3 \cdot 2^2 \cdot T - 8 = 3$$

$$\rightarrow T^3 - 6T^2 + 12T - 11 \text{ の最小多項式}$$

$$g(T) \text{ の最小多項式. } 11 \text{ の最小多項式. } \quad g(1) \neq 0, \quad g(11) = 11 \cdot (11-6) + 11 \cdot (12-1) = 16 \cdot 11 \neq 0$$

$$g(-1) \neq 0, \quad g(-11) \neq 0$$

 $\rightarrow$  既約多項式 = 最小多項式 =  $T^3 - 6T^2 + 12T - 11$ 

$$\text{(3) } \frac{1}{\sqrt{2}+i} = \frac{\sqrt{2}-i}{2+1} = \frac{1}{3}(\sqrt{2}-i) \quad \rightarrow \quad 3T + \frac{1}{T} = 2\sqrt{2}$$

$$\therefore \left(3T + \frac{1}{T}\right)^2 = 4 \cdot 2$$

$$9T^2 + 6 + \frac{1}{T^2} = 8 \quad \rightarrow \quad 9T^4 + 6T^2 + 1 = 8T^2$$

$$\rightarrow 9T^4 - 2T^2 + 1 = 0 \quad \text{の最小多項式}$$

$$f(T) \rightarrow 9T^4 - 2T^2 + 1 \quad \rightarrow \quad T \mid f(T)$$

$$f(1) = 8, \quad f(-1) = 8. \quad \rightarrow \quad \text{既約多項式} \quad F_{\min}(T) = T^4 - \frac{2}{9}T^2 + \frac{1}{9}$$

$$\text{[5] (1) } \sqrt[9]{4} = 4^{\frac{1}{9}} = 3^{\frac{2}{9}} = \left(3^{\frac{1}{3}}\right)^{\frac{2}{3}} \in \mathbb{Q}(\sqrt[9]{3}) \quad \text{すなわち} \quad \mathbb{Q}(\sqrt[9]{4}) \subset \mathbb{Q}(\sqrt[9]{3})$$

$$\frac{1}{\sqrt[9]{4}} = \left(3^{\frac{2}{9}}\right)^{\frac{5}{2}} \cdot \frac{1}{3} \in \mathbb{Q}(\sqrt[9]{4}) \quad \text{すなわち} \quad \mathbb{Q}(\sqrt[9]{3}) \subset \mathbb{Q}(\sqrt[9]{4})$$

$$\text{P2. (1) } \mathbb{Q}(\sqrt[9]{4}) = \mathbb{Q}(\sqrt[9]{3})$$

$$\text{既約多項式 } T^9 - 3 \in (\mathbb{Z}[T]: \text{既約多項式}) \rightarrow [\mathbb{Q}(\sqrt[9]{3}) : \mathbb{Q}] = 9$$

$$\therefore \sqrt[9]{3} \in \mathbb{Q}(\sqrt[9]{4}) \quad \text{すなわち} \quad \mathbb{Q}(\sqrt[9]{3}) \subset \mathbb{Q}(\sqrt[9]{4})$$

$$\text{よって} \quad [\mathbb{Q}(\sqrt[9]{4}) : \mathbb{Q}] = [\mathbb{Q}(\sqrt[9]{4}) : \mathbb{Q}(\sqrt[9]{3})] \cdot [\mathbb{Q}(\sqrt[9]{3}) : \mathbb{Q}]$$

$$\text{よって} \quad \mathbb{Q}(\sqrt[9]{3}) \subset \mathbb{Q}(\sqrt[9]{4}) \text{ ならば } 2 \mid 9 \text{ である。ゆえに } \sqrt[9]{3} \notin \mathbb{Q}(\sqrt[9]{4})$$

$$\therefore \sqrt[9]{3} \notin \mathbb{Q}(\sqrt[9]{4})$$